C T Center 0 Teaching & Leaming easyCBM CCSS Math Example Test Items
UO DIBELS Data System (not for use with students)

Grade: 6
CCSS Domain: Ratios and Proportional Relationships

Booth X Booth Y Booth Z

Jenny bought 7 pounds of strawberries. 2 Pretzels | | 3 Pretzels | | 1 Pretzel
for $5.50 || for $7.25 | | for $2.85
They were on sale for
$1.12 for every 2 pounds.
How much did Jenny pay? Which booth has the

lowest price per pretzel?

A. $15.68 A. X

B. $7.84 B.Y

C. $3.92 C. 2
Grade: 6

CCSS Domain: The Number System

A
~——————
9 -7 5 3 -101 3 5 7 9
B
What is the greatest common factor of P b ., L A
20 and 30? 9 7 5 -3 101 3 5 7 9
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9 7 5 3 101 3 5 7 9

Which graph shows: -3, -8, 6

A. 20

B. 10
B

C.2
cC.C
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C T Center 0 Teaching & Leaming easyCBM CCSS Math Example Test Items
UO DIBELS Data System (not for use with students)

Grade: 6
CCSS Domain: Expressions and Equations

21=x-7
23
x i —
A. 14 A. 8
B. 3 B. 10
C. 28 C. 6
Grade: 6
CCSS Domain: Geometry
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Volume = _ What coordinate will complete
the parallelogram?
1
A 135 0 A. (6.1)
B. 865 m’ B. (-3, -6)
C. 693 m3 C. (-5, -5)
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[: T Center 0 Teaching & Leaming easyCBM CCSS Math Example Test Items
UO DIBELS Data System (not for use with students)

Grade: 6
CCSS Domain: Statistics and Probability

Popcorn Sold at Carnival

350
a ;gg What is the mode?
& 200 - 1
£ = — 13, 15, 15, 11, 18,
2 lgg_ H H EH 1 18,11, 9, 12, 10, 18, 18
0

Thurs  Fri Sat  Sun
Day

How many bags are sold in all 4 days?

A. 850 A. 18
B. 700 B. 15
C. 900 C. 14
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